Vegetable oil has (a) (know) since very old
times. No household can get on without it, for it (b)
(use) in cooking. Perfumes (c)
(prepare) from the oils of certain flowers.

Soaps (d) (make) from vegetable and animal
oils. Minerals (e) (use) more widely now-a-
days. Modern life has (f) (revolutionalise)

by mineral oil.



EXERCISE:1
(answers)

Vegetable oil has (a) been known (know) since very
old times. No household can get on without it, for
it (b) is being used (use) in cooking. Perfumes (c)
are prepared (prepare) from the oils of certain
flowers. Soaps (d) are made (make) from vegetable
and animal oils. Minerals (e) are being used (use)
more widely now-a-days. Modern life has (f) been
revolutionalised (revolutionalise) by mineral oil.




EXERCISE:2
COMPLETE THE FOLLOWING WITH PASSIVE
FORM OF VERBS GIVEN IN BRACKETS.

It has (a) (report) by police that
cases of robbery have increased recently.
Unoccupied houses (b) (select) as soft
targets. Jewellery, cash etc...(c) (steal)
and if the occupants turn up, they (d)

(batter) to death. Domestic helps (e)
(often find) involved with the criminals. Due
care must (f) (take) while recruiting
domestic servants.




It has (a) been reported (report) by police
that cases of robbery have increased
recently. Unoccupied houses (b) have been
selected (select) as soft targets. Jewellery,
cash etc...(c) are stolen (steal) and if the
occupants turn up, they (d) are battered
(batter) to death. Domestic helps (e) are
often found (often find) involved with the
criminals. Due care must (f) be taken (take)
while recruiting domestic servants.




